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MAY TEST NO. 4
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Gfusg'rrorq 1: Ctomarks)

k) T +he given triangle,
. evaluake A

Ci) length AC

o

Cii) tan 3 =
A
Ciiiy s€c C <

Cb) Find the value of = if:

Ci) cos 25° - sin x°

Cii) sec 20° = cosec (x+30)

¢ce) Fll in the table below :

(b) Solve the equations for

x if 04 % £ 360°
) sinx = NS
2
Ciiy tan % = -3

¢e) Find the value of %

Ci) (4o 1 d.p)

50
23-6com

iy (Ho the nearesk miawe)

(with exact values) 4 .

-  — T

eonsl | 0° | 35| 45°] 60°| a0 x
sin o°| 3 ‘% {

BT 23
<cos =z Ng) Q

T

cot e ! 3G o

QUESTION 2 : (20marks )

Ca) FHnd +he exack value of :
Ci) sin 225°

Cit) +4an 800°
Ciii) cot §70°
Civ) cos (-120°)

(v) sec (-3i5°)

(d) TF % = 80°, g = 45°
find the exact value of

¢i) sin 2x
¢y 2 Siny <03 Y

2
Gii) sec® x - tan™ x

(v) 1= cos‘j

QuesTioN 3 : (IO marks)

] crang

Ci) Ca) Stare +he Sine Rule
for ang A ABC

(b) ABCD is a paralielogram.

in which LBAD = 40°, AD:37em
and AC = &65. Draw a neal skekch,
and find ZLAcD (o nearest degree)

T

Cii) In the diagram. PAR is o
. MS a load al 8,
Caladolre L QPR and the height
of S above the ground,

6

ey
20mf ™

[l

14-4m]




T AT A

MAY TEST No.4{ /UU/\) jf/,\g,//

- efpor 2 uNIT

NAME ; L ¥oce
QuUESTION |! ClOmarks) ¢b) Solve the equativns for SQuEsTioN 3 1 ClOmarks )
. \ ' » ifF O°£ * & 3 9——-—-/ . -
Ca) In the givea triangle, Ci) Ca) Stare +the Sine Rule
evajuale .A ) ‘sin % = '%’:. for o.n\y A ABC .
Ci) length Ac o 120 ah b <. /
AC -5 +4? (oc‘)/' / S]nA i B 51/\c~
& {4y
Ac e/t Y ' _ (b) ABCD is a parallelogram
' ¢it) tana = = ~J3 in which LBAD = 40°, AD:37c
B-[ > . and AC = 65, Draw a. neal skeh
4 . |':r_\0/°, 300\"/ and find 4L ACD (to ncarest degree.
Cii) tan R o 4/5\/ '
A _ AW '
CHiy) s€c C = /4 4 ¢e) Find the value of =
¢y CHo | dip) |
(b) Find +he value of « if: P
Ci) cos 25° z sin x° Foun BO° = 3¢ / "
%0: 05° / . 3.6
o ol %= 23.6 Can &P, Sia & 7 37 Sin 140
¢ii) sec 20 = cosec (x+30) : 50" o5 N
T 2B, ' P
% * 40°/ ! 3” 23:6 em 0
MDD T Q’/

10

¢e) Fill in the fable below :
Cwith exack values)

oG | o° | 80" | 45° 60°| 90°
sin | o°| & || B |
cos 1/ {55 .}lj' 1.V ©
cot | |13/ 1 |H | ©

QUESTION 2 1 (20marks )

(o) Find +he exack value of

¢i) sin 225°
"‘/d'i'/

(') “4an 800°
-5/

Cii) cot b?O/

(iv) cos (~120°%)
-1

(v) sec (-315°)
iz ./

cr;‘;) (Ho the nearesk minure)

. 4

Cos 5° = 4 / =
423 :

x° s 33°29/ 23

Cd) If % 280°, y= 45°
find the exact value of

1%,/

¢i) sin 2%

i) 28103 COS_LI
= ..; F I /

Zx-—- ‘(qr"z

il sec’x - tan® %

4 !

—...-..

3"3

2.1,

¢iv) J i~ cos_t;

AR
d1-3

= f1
72

:

":"'l ’
e

Jo

Cit) In the diagram. PR is o
crant carrying a load aF s,
Calowdate QPR and the hu‘ghf
of S above the ground.,

e
6" f4'4
o De
20m %
i)
¥ '
P T

hat LQPR = &
18 2074322 -2.20.32,C

.“/

256 = 4c0+ 1029 - 1280 Co\s/&

eNes ooy
¥l2e0
o =24°a’/
L LrPT = 65751
RT 32 i
-1 © Sind0

RT: 32 8in65°5)
,__————‘_—7_'

I

RT * 2.2 m/
RT-RS= &T

LLATs 4.8 m v




